CXL-800 Transformer Housing

This document is intended as a brief introduction to installing the CXL-800 with CXL-40T/CXL-100T
transformers. The CXL-800 should not be used with CXL-100 or CXL-40 transformers.

- Install each of the CXL-40T/CXL-100T transformers as follows:
- Place the transformer on the housing which is in-line with the output connector you wish to
use.
- Fix the transformer to the chassis using the bolt, washer and nut provided
- Fix the attached circuit board so that the connector is uppermost and the mounting blocks are
aligned with their holes in the rear panel.
- Fix the circuit board to the rear panel using the M3 screws provided or using a spacer in the
locations indicated.

- Repeat the process for each of the transformers you wish to install on the unit.

iz - RISK OF ELECTRIC SHOCK - DO NOT OPEN
Soviooy w80 C € 0 A C A UTIO N A AVIS RISQUE DE CHOC ELECTRIQUE -NE PAS OUVRIR
5 6

70V/100V TRANSFORMER HOUSING Ni2a
1 2 3 7 8
M M r~ /

e el 1 1 1 1 1
© ® ©fceese ® @ fooecloel ® © [oo @® @ [ceee©® @osles] ® ®foclss © @
1) orl) rl) or]) o) o) o) o)
70V 70V 70V 70V 70V 70V 70V 70V
100V 100V 100V 100V 100v 100v 100v 100v
OUTPUT - OUTPUT - OUTPUT - OUTPUT - OUTPUT - OUTPUT - OUTPUT - OUTPUT -
AMPLIFIER AMPLIFIER AMPLIFIER AMPLIFIER AMPLIFIER AMPLIFIER AMPLIFIER AMPLIFIER

NOTE: For spacer locations where there is no supporting circuitboard fitted, use one of the M3 nuts

provided to fix it in the required location.

- Fit the PC340144 safety cover to the inside-rear of the CXL-800. Once fitted this should tidy transformer
cables underneath and prevent access to any of the connectors from the inside of the CXL-800.
- Locate the cover with the holes topmost and artwork facing the transformers such that the holes
are aligned with the screw holes on the CXL-800.
- Fix the cover to the CXL-800 using the M3 machine screws.
- Connect the amplifiers and speakers to the unit.
- Fit the plastic connector guard such that the screw holes align with the spacers on the rear panel and the
lip of the guard shields the top of the screw terminal connectors

- Attach the connector guard using the remaining M3 screws.

V1.0 12022004



